BE RRFIENEAES £,
J )

7= G| B BB

-+ - A (9]

BAR RRmE

P+l1)=1 P(-12)=0

P(+|0)=1x10% P(-]0)=1~1x0*x |

#11: RH B EFEE

o, REE LR, REDHE L B pRBRME P(1).

P(1|+)- PI11) P(1) X Plrl1)P(1) 5 :
) P(r) P(+(1) P(1) + P(t]9) P(0) =2

C0~Se IE%;\E P(1)=1X|0‘4 Case E%Q% P(l)zlxlo"-
P(0)= 1-1xig*~1 P(o)= 1~1x0*2 1
P(1]+)= CLET P(2]+) = L 10
11x0% + 1007 (1-1x69) (1) 110 + 120 (1-1x0)
7, lo‘q \Dﬁl— 5 i lo'}. ID_Q .
T oo T Tes ¥4 T 203 T T A
R 318 R0

Bk B33k FE5@OERIRSMR, 1t Cl0)5HIDEMEHIEE,
FRAMNER PE0)=pr|1) Z PE=PED. R, %R "WEER T8 R,

TEOR, AEETREOETNLFLH R, %P(l)“@g;l*, “RHBRN RO
10 1o



